
Chapter 7

Bond Markets

Questions

3.
Explain the use of a sinking-fund provision. How can it reduce the investor’s risk?


ANSWER: A sinking fund provision is a requirement that the firm retire a certain amount of the bond issue each year. This reduces the payments necessary at maturity and therefore can reduce the risk of investors.

5.
Explain the call provision of bonds. How can it affect the price of a bond?


ANSWER: A call provision allows the issuing firm to purchase its bonds back prior to maturity at a specific price (the call price). Investors require a higher yield to compensate for this provision, other things being equal.

7.
What are debentures? How do they differ from subordinated debentures?


ANSWER: Debentures are backed only by the general credit of the issuing firm. Subordinated debentures are junior to the claims of regular debentures, and therefore may have a higher probability of default than regular debentures.

8.
What are the advantages and disadvantages to a firm that issues low- or zero-coupon bonds?


ANSWER: From the perspective of the issuing firm, low or zero coupon bonds have the advantage of requiring low or no cash outflow during the life of the bond. The issuing firm is allowed to deduct the amortized discount as interest expense for federal income tax purposes, which adds to the firm's cash flow. However, the lump-sum payment made to bondholders at maturity can be very large, and could cause repayment problems for the firm.

9.
Are variable-rate bonds attractive to investors who expect interest rates to decrease? Explain.


ANSWER: If investors expect interest rates to decrease, they would avoid variable-rate bonds because the return to the investors would be tied to market interest rates. The investors would prefer fixed-rate bonds if interest rates are expected to decrease.

10.
Why can convertible bonds be issued by firms at a higher price than other bonds?


ANSWER: Convertible bonds allow investors to exchange the bonds for a stated number of shares of the firm's common stock. This conversion feature offers investors the potential for high returns if the price of the firm's common stock rises. Because of this feature, the bonds can be issued at a higher price.

14.
An insurance company purchased bonds issued by Hartnett Company two years ago. Today, Hartnett Company has begun to issue junk bonds and is using the funds to repurchase most of its existing stock. Why might the market value of those bonds held by the insurance company be affected by this action?


ANSWER: This question is related to event risk. The bonds held by the insurance company will now be more susceptible to default, because Hartnett Company is more likely to experience cash flow problems. Therefore, the required rate of return on those bonds will increase, and the market value of the bonds will decrease.

Interpreting Financial News

Interpret the following statements made by Wall Street analysts and portfolio managers.


a.
“The values of some stocks are dependent on the bond market. When investors are not interested in junk bonds, the values of stocks ripe for leveraged buyouts decline.”



The likelihood of a firm engaging in an LBO is dependent on whether it can obtain debt financing. If the junk bond market is inactive, the likelihood of obtaining debt financing is low and so is the chance of engaging in an LBO. The market value of the firm’s stock may decline if the likelihood of a takeover is reduced.


b.
“The recent trend in which many firms are using debt to repurchase some of their stock is a good strategy as long as they can withstand the stagnant economy.”



When firms use debt to repurchase some of their stock, they create a higher degree of financial leverage. While this can enhance the firm’s return to its remaining shareholders, it results in higher debt payment, and can therefore increase default risk, especially when the economy is stagnant.


c.
“While yields among bonds are related, today’s rumors of a tax cut caused an increase in the yield on municipal bonds, while the yield on corporate bonds declined.”



If investors expect a tax cut, they recognize that the benefits from tax-free municipal bonds will be reduced. Therefore, they sell municipal bonds immediately in response to this expectation, and purchase corporate bonds. The sale of municipal bonds causes lower prices and higher yields of municipal bonds, while the purchase of corporate bonds results in higher prices and lower yields of corporate bonds.

Chapter 8

Bond Valuation and Risk

Problems

1.
Assume the following information for an existing bond that provides annual coupon payments:


Par value = $1,000


Coupon rate = 11%


Maturity = 4 years


Required rate of return by investors = 11%


a.
What is the present value of the bond?



ANSWER:



PV of Bond = PV of Coupon Payments + PV of Principal



= $110(PVIFAi = 11%,n = 4) + $1,000(PVIFi = 11%,n = 4)



= $110(3.1024) + $1,000(.6587)



= $341 + $659



= $1,000


b.
If the required rate of return by investors were 14 percent instead of 11 percent, what would be the
present value of the bond?



ANSWER:



PV of Bond = PV of Coupon Payments + PV of Principal



= $110(PVIFAi = 14%,n = 4) + $1,000(PVIFi = 14%,n = 4)



= $110(2.9137) + $1,000(.5921)



= $321 + $592



= $913


c.
If the required rate of return by investors were 9 percent, what would be the present value of the bond?



ANSWER:



PV of Bond = PV of Coupon Payments + PV of Principal



= $110(PVIFAi = 9%,n = 4) + $1,000(PVIFi = 9%,n = 4)



= $110(3.2397) + $1,000(.7084)



= $356 + $708



= $1,064

3.
Assume that you require a 14 percent return on a zero-coupon bond with a par value of $1,000 and six years to maturity. What is the price you should be willing to pay for this bond?


ANSWER:


PV of Bond = PV of Coupon Payments + PV of Principal


= $0 + 1,000(PVIFi = 14%,n = 6)


= $1,000(.4556)


= $455.60

12.
You are interested in buying a $1,000 par value bond with 10 years to maturity and an 8 percent coupon rate that is paid semiannually. How much should you be willing to pay for the bond if the investor’s required rate of return is 10 percent?


ANSWER:



PV = C (PVIFA k = 5%, n = 20) + FV (PVIFk = 5%, n = 20)


PV = 40 (12.4622) + 1,000 (0.3769)


PV = $ 875.39

13.
A bond you are interested in pays an annual coupon of 4 percent, has a yield to maturity of 6 percent and has 13 years to maturity. If interest rates remain unchanged, at what price would you expect this bond to be selling 8 years from now? Ten years from now?


ANSWER:


PV = C (PVIFAk = 6%, n = 5) + FV (PVIFk = 6%, n = 5)


PV = 40 (4.2124) + 1,000 (0.7473)


PV = $ 915.796


PV = C (PVIFAk = 6%, n = 3) + FV (PVIFk = 6%, n = 3)


PV = 40 (2.6730) + 1,000 (0.8396)


PV = $ 946.52

2
1

